Name: Holly Lowry Class/Position: SpEd - Self Contained

Birthday: December 28 Shirt Size: L Monogram: HL

Dietary Restrictions: none

MY FAVORITE:

College team: ASU

Color: purple

Salty snack: trail mix

Fruit: all

Candy or candy bar: Reese's

Gum flavor: peppermint

Soft Drink: Iced Tea

Sodalicious Drink: Southern Belle

Starbucks: Caramel Macchiato (hot)

Cookie: peanut butter

Cake: **lemon**Dessert: **pie**

Take-out/fast food restaurant: Someburros

Sit down restaurant: Olive Garden Ice Cream Shop/Flavor: Coldstone

Coffee Shop: Starbucks

Bookstore: **Barnes and Noble** Teacher Supply Store: **Lakeshore**

Scent: **beach**

Hobby: paddle boarding, hiking

If you found a gift card for \$5, where would you want it to be to? **Starbucks**If you found a gift card for \$20, where would you want it to be to? **Starbucks**If you found a gift card for \$100, where would you want it to be to? **Amazon**Any Additional Information You Would Like Us To Know? **I appreciate you!!!!!**

Name: Lizzie Nelsen Class/Position: SLP (self contained)

Birthday: March 28 Shirt Size: M Monogram: LN

Dietary Restrictions: None

MY FAVORITE:

College team: U of A Wildcats

Color: Green

Salty snack: Original Dot's Pretzels

Fruit: Watermelon

Candy or candy bar: Snickers

Gum flavor: Spearmint

Soft Drink: Coke

Sodalicious Drink: Skinny Trophy Wife

Starbucks: Iced chocolate almond milk shaken espresso

Cookie: White chocolate macadamia nut

Cake: Lemon or vanilla

Dessert: Donuts or Ice Cream

Take-out/fast food restaurant: Chick-fil-a Sit down restaurant: Culinary Dropout Ice Cream Shop/Flavor: Frost, Hazelnut

Coffee Shop: Dutch Bros

Bookstore: **Barnes and Noble** Teacher Supply Store: **Lakeshore**

Scent: White tea Hobby: Baking

If you found a gift card for \$5, where would you want it to be to? **Dutch Bros**If you found a gift card for \$20, where would you want it to be to? **Target**If you found a gift card for \$100, where would you want it to be to? **Amazon**Any Additional Information You Would Like Us To Know? **Thank you so much!** I

appreciate you!:)

Name: Heather Raymond Class/Position: Special Ed - 4, 5, 6

Birthday: June 24 Shirt Size: S Monogram: HRA

Dietary Restrictions: None

MY FAVORITE:

College team: University of Arizona Wildcats

Color: Light blue

Salty snack: **Hint of Lime Tortilla Chips**Fruit: **Berries, Nectarines, Watermelon**Candy or candy bar: **Jelly Bellies, Skittles**

Gum flavor: Trident Peppermint or Trident Bubble Gum

Soft Drink: Fresca - any flavor Sodalicious Drink: Fresca MY-TY

Starbucks: Almond Milk Chai Latte - HOT Cookie: Snickerdoodle or Sugar Cookie Cake: Angelfood or Vanilla or Yellow

Dessert: Frozen yogurt or Crumble Cookies

Take-out/fast food restaurant: Cafe Rio, Someburros, Torchy's Tacos

Sit down restaurant: Pita Jungle or Sauce

Ice Cream Shop/Flavor: Baskin Robbins - Nutty Coconut, Daiquiri

Ice, Cotton Candy

Coffee Shop: Black Rock
Bookstore: Barnes & Noble

Teacher Supply Store: Amazon -- OR-- Teaching & Learning Stuff

Scent: Vanilla

Hobby: Paddleboarding

If you found a gift card for \$5, where would you want it to be to? Target or Black Rock If you found a gift card for \$20, where would you want it to be to? Target or Amazon If you found a gift card for \$100, where would you want it to be to? Target or Amazon Any Additional Information You Would Like Us To Know? Thank you x 1,000,000 for supporting DME teachers!

Name: Laura Riggs Class/Position: self-contained K-2

Birthday: April II Shirt Size: S Monogram: Mrs. Riggs

Dietary Restrictions: none

MY FAVORITE:

College team: ASU

Color: pink

Salty snack: **popcorn** Fruit: **blueberries**

Candy or candy bar: 100 grand bar Gum flavor: Cinnamon Ice Cubes

Soft Drink: none

Sodalicious Drink: Shirley Temple

Starbucks: White Mocha

Cookie: Oreo

Cake: Carrot Cake
Dessert: ice cream

Take-out/fast food restaurant: Oregano's

Sit down restaurant: Zipp's

Ice Cream Shop/Flavor: Screamery/Sweet Cream Honeycomb

Coffee Shop: Black Rock

Bookstore: **Amazon**

Teacher Supply Store: Amazon Scent: Lavender or Gardenia

Hobby: Working out

If you found a gift card for \$5, where would you want it to be to? **Black Rock** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **Thank you for everything you do!**

Name: Ellen Petree Class/Position: SLP

Birthday: April 7 Shirt Size: M Monogram: EP

Dietary Restrictions: None

MY FAVORITE:

College team: GCU

Color: Red

Salty snack: Any salty nuts

Fruit: **Grapes**

Candy or candy bar: Snickers/ Twix

Gum flavor: Wintergreen Soft Drink: Diet Pepsi

Sodalicious Drink: Supermise me

Starbucks: Strawberry Acai Refresher

Cookie: Chocolate Chip

Cake: Carrot Cake
Dessert: Tiramisu

Take-out/fast food restaurant: Sauce Sit down restaurant: North Italia Ice Cream Shop/Flavor: Coldstone

Coffee Shop: Starbucks

Bookstore: Amazon

Teacher Supply Store: Super Duper Inc

Scent: Lavender Hobby: Decorating

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Ulta** If you found a gift card for \$100, where would you want it to be to? **HomeGoods** Any Additional Information You Would Like Us To Know? **I enjoy hiking**.

Name: Shelley Wilson Class/Position: OT

Birthday: January 8 Shirt Size: M Monogram: SAW

Dietary Restrictions: soy, safflower

MY FAVORITE:

College team: **BYU** Color: **Hot pink**

Salty snack: sea salt popcorn

Fruit: blueberries

Candy or candy bar: Lilly's Dark Chocolate

Gum flavor: Mint Soft Drink: Celsius

Sodalicious Drink: None

Starbucks: **None**Cookie: **Molasses**Cake: **Chocolate**

Dessert: dark chocolate

Take-out/fast food restaurant: Chop Shop

Sit down restaurant: Barrio Queen

Ice Cream Shop/Flavor: None

Coffee Shop: None Bookstore: None

Teacher Supply Store: None

Scent: clove/orange Hobby: pilates, crafts

If you found a gift card for \$5, where would you want it to be to? **Target**If you found a gift card for \$20, where would you want it to be to? **TJ Maxx**If you found a gift card for \$100, where would you want it to be to? **Costco**Any Additional Information You Would Like Us To Know? **You are awesome!**

Thanks for all you do!!

Name: Laura Mattis Class/Position: Physical Therapist

Birthday: October 27 Shirt Size: M Monogram: Ms. Laura

Dietary Restrictions: none

MY FAVORITE:

College team: Uconn Huskies

Color: Pink

Salty snack: Pretzels

Fruit: **Bananas**

Candy or candy bar: Snickers

Gum flavor: Cinnamon
Soft Drink: Mountain Dew
Sodalicious Drink: Selfie

Starbucks: Iced Caramel Macchiato with 2 extra pumps of caramel

Cookie: **Chocolate Chip**Cake: **German Chocolate**

Dessert: Ice Cream

Take-out/fast food restaurant: Salad and Go

Sit down restaurant: Cafe Zupa

Ice Cream Shop/Flavor: Baskin Robbins/Chocolate Chip

Coffee Shop: Black Rock

Bookstore: Barnes and Noble

Teacher Supply Store: Hobby Lobby

Scent: Vanilla Hobby: Running

If you found a gift card for \$5, where would you want it to be to? **Sodalicious** If you found a gift card for \$20, where would you want it to be to? **Salad and Go or Torchy's**

If you found a gift card for \$100, where would you want it to be to? **Dicks Sporting**

Goods
Any Additional Information You Would Like Us To Know? none